QUIZ

NORTHERN IRELAND PROTOCOL UPDATED

Fill the gaps in the text below.

A deal, known as the 1. , has been reached between the UK

government and the European Union concerning Northern Ireland, which is the only part of the

UK to have a 2. with the EU.

The two parties have agreed that there should be no checks or 3. on the
island of Ireland. Goods exported from 4. to Northern Ireland are currently
checkedin5.___ . This requires a lot of paperwork, and there have been

6. in some shops.

To make the deal a success, the British prime minister, Rishi Sunak, needs the support of

Northern Ireland’s Unionists, represented bythe7.___ . Thepartyis 8. the

Northern Ireland Assembly in protest at the problems they have with some aspects of the Brexit

deal.

SOLUTIONS : 1. Windsor Framework - 2. land border - 3. border posts - 4. Great Britain - 5. the sea -
6. shortages - 7. DUP - 8. boycotting
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